Repetition week 10 and 11. Analysis of variance

One-way

N(0,07), and independent

Yij:,u+05i+gij _ _
1=12,....k, ] =1,2,...,n,

Hypothesis
H=a,=a,=--=a, =0 H,:atleastone o, =0.
Source SS DF MS F
&K o 2 SS, /SS.
Treatment SSA_;ni iy k-1 SS,/ k-1 k-1/ n-k
k n; 2
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Randomized complete block design
N 0,0° and independent
Yy =pto+ e .
j=12,--b, 1=1,2,---,k
Hypothesis
Hy:oq =, =---=a, =0 H,:at least two are different from zero
Sources SS DF MS F
S 2 SS, SS.
Treatment SSA:b; i Y. k-1 SSA/ k—1 k—l/ b—1 k—1
b _ _ 2
Block SSg = kz Yi—VY. b-1 SS,/ b—1
j=1
k b _ _ 2
Eror  SSe=)_D_ Vi Vi—-V,*+Y  (b-1)k1) sS./b-1 k-1
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kK b
Total SS; = ZZ yij_y.. i bk-1




Two-way analysis of variance

Model

N 0,0° and independent

Yijk ::U‘|‘05i‘|‘,8j + of ij+gijk _ i
|:1,2’...’a’ j:1,2,---,b, k:]_’z’...’n

1. Hyiy=a,=---=a, =0 H,:atleast one is different from 0.
2. Hy:B=p0,=---=H =0 H,:atleast one is different from 0.
3. Hy:af,=apf,=--=af, =0 H,:atleast one is different from O.
Sources SS DF MS F
a 2 SS, MS
— L — F — A
A SSy nb; Yi.— Y. a—1 a—1 MS,
b _ SS, _MS
B SS, = najz; Y-, b1 1 F= MSZ
a b _ _ 2 SSAB _ MSAB
Interaction ~ SSas = HIZ;JZ; Yi—Yim YtV albl albi '- MS,
AB -
SS B a b n 2 SSE
Error E— - ;; yijk_yij. ab n—1 ab n—1
a b n 2
Total S =220 Yu—V. abn—1
i=1 j=1 k=1




